N = 0l & At & Ml A

AR BHANNRZ SN BRI
M HIISNHE=SHAAS
Selr HOIS22AX XMl AEEXR (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
I M= 692,842,577 694,689,481 A 1,846,904
= 422,261,744
Xl 139,403,002
J| 3,828,000
< 127,349,831
SZE M 68,754,362 60,181,112 8,573,250
= 41,846,680
Xl 4,370,000
< 22,537,682
HOISHJ=SHATRS 41,254,100 31,848,550 9,405,550
= 32,198,500
= 9,055,600
HOIS2elLHel AL 41,254,100 31,848,550 9,405,550
= 32,198,500
= 9,055,600
METH S HEHES 1,350,000 1,262,000 88,000
= 750,000
< 600,000
403 MHXISHHE X201 & 1,350,000 1,262,000 88,000
= 750,000
< 600,000
01 X SN2 2= 1,350,000 1,262,000 88,000
JMeTtds dEHES 1,350,000
= 750,000
< 600,000
HI?I&40HE A2 EHHI ALY 2,724,000 2,262,000 462,000
= 2,424,000
< 300,000
403 A X EHHS 20l A 2,724,000 2,262,000 462,000
= 2,424,000
< 300,000
01 X EHHMA=LE L 2,724,000 2,262,000 462,000
B2 MO Al & EHI 2,724,000
= 2,424,000
< 300,000
OH& Al & F HI A 660,000 0 660,000
= 360,000
< 300,000
403 MtXISHH S =0l & 660,000 0 660,000
= 360,000
S 300,000
01 AXISHHA=2E = 660,000 0 660,000
CIOHE A E EHIALS 660,000
= 360,000
< 300,000
SIS H A2 HH0I It A SHAIE 4,003,000 9,868,000 25,865,000




A=
3 HIISAF=SHAHTRS
ol HIIZ222LH2IAIEEX ?EA)
R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t
= 4,003,000
403 XAXISH M S K201 A 4,003,000 9,868,000 A5,865,000
= 4,003,000
01 XXM A2E = 4,003,000 9,868,000 A5,865,000
ORI SH A0t AT AIE A X 4,003,000
= 4,003,000
NASHIISHE XMl A EE X ALY 3,063,000 3,404,000 A 341,000
= 3,063,000
403 XAtXISHM S K201 A 3,063,000 3,404,000 A 341,000
= 3,063,000
01 XXM A2E = 3,063,000 3,404,000 A 341,000
ONALHIISEX I AIEE X ALS 3,063,000
= 3,063,000
NEASNSEEELHE XA 2,153,000 2,392,000 A 239,000
= 2,153,000
403 XHXISHHI S Xt =2 0| & 2,153,000 2,392,000 239,000
=2 2,153,000
01 RXEHH K22 = 2,153,000 2,392,000 239,000
ONEHASHNSEESELHEXAS 2,153,000
= 2,153,000
SSHUE TSRS 823,650 701,250 122,400
= 484,500
< 339,150
403 XXM S X201 A 823,650 701,250 122,400
= 484,500
< 339,150
01 XXM A2E = 823,650 701,250 122,400
OZsHHESsHGEESXJ 823,650
= 484,500
= 339,150
ZEMUETHLAAALEEIAY 20,279,000 2,554,000 , 725,000
= 15,599,000
= 4,680,000
403 X SHS X =0l H 20,279,000 2,554,000 725,000
=2 15,599,000
= 4,680,000
02 BJ| &S 0fl CH &HCH & AF & HI 20,279,000 2,554,000 , 725,000
OJZ3SMEEALALAELIIAL 20,279,000
= 15,599,000
< 4,680,000
FEMNEEHSIIEH AR B0l It ASHE X ALY 4,335,000 500,000 ,835,000
= 2,550,000
< 1,785,000
403 XXM S X201 4,335,000 500,000 ,835,000




A=
M HIISNHE=SHAAS
o2l HoIS2A2ALHAANEEX (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 2,550,000
< 1,785,000
02 3|25 0l CHSHCH & At & HI 4,335,000 500,000 3,835,000
O3S FRINEH A2 B0 2Ot ASHA XA 4,335,000
= 2,550,000
< 1,785,000
EAXNGHBESSNHE2EHI XA 48,000 100,000 252,000
308 XtXIEHHSOIA 48,000 100,000 252,000
01 IXNHHNEBAMNEES 48,000 100,000 A 52,000
OEAXNSNESSSANLE2SHXE 48,000
SEHHE=HEL S XA 661,350 619,000 42,350
2 310,000
< 351,350
308 A EHHSOIA 661,350 619,000 42,350
= 310,000
< 351,350
01 AXSHBLEES 661,350 619,000 42,350
SEHHE=NELS 661,350
2 310,000
< 351,350
Hsd2)If+dBA2E2NA (NI ) 280,000 150,000 130,000
307 glz2+ol & 280,000 150,000 130,000
02 It HAHEE 280,000 150,000 130,000
Olss2)Ig+dE8EE83 X 280,000
Mg 243N 200,000 200,000 0
308 XtXIEHH SOl A 200,000 200,000 0
01 AXHHILEES 200,000 200,000 0
OHegsEssde8sdsXE 200,000
HIOISHaELSAEMeFAEH 21,500 25,500 A 4,000
201 Let24dy] 13,000 17,000 A 4,000
01 At 22/l 11,000 15,000 A 4,000
Ogpt=2Hl 7,000
OSsHHEELNE AR 7,000
OJgxs 4,000
OZIRETANLAS XS A Xt 4,000
02 2324l 2,000 2,000 0
O=222HA 2,000
Ost=HII28 3 bl 2,000
202 oddl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
OHOISMESEXLSASXAIIMeERFE A 4,000




A=
M HIISNHE=SHAAS
o2l HoIS2A2ALHAANEEX cet )
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
203 YR =&l 4,500 4,500 0
03 Al F=XH R =AH| 4,500 4,500 0
OMeIIZEAEFE 4,500
SEUXESESROISAEIAS 652,600 0 652,600
= 502,000
< 150,600
403 MtXISHHE X201 & 652,600 0 652,600
= 502,000
< 150,600
01 XM A=2EE 652,600 0 652,600
sEXESHSotRAE X ALY 652,600
= 502,000
< 150,600
HEsHAEXLH 10,644,390 9,949,070 695,320
= 7,489,180
= 3,155,210
=X S0l stAY 1,606,190 2,491,970 A 885,780
= 1,249,300
= 356,890
AR SUHES 672,750 897,000 A 224,250
= 517,500
< 155,250
403 XIS E X201 E 672,750 897,000 A 224,250
= 517,500
< 155,250
01 IXSHMA=2EER 672,750 897,000 A 224,250
OJANATISHES 672,750
= 517,500
< 155,250
HdEIMAXNSHAZH XA 121,940 130,000 A 8,060
= 93,800
< 28,140
308 AAIEHHSOIA 121,940 130,000 A 8,060
= 93,800
< 28,140
01 AXSHBLEELS 121,940 130,000 A 8,060
OANATSIHAZHI XA 121,940
= 93,800
< 28,140
NSXHSSH =R Z b 3,000 3,000 0
202 o4dl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OXSHMSHst LI ZHS AL F=R O I 3,000
IS AHESLSHUZRF 808,500 1,453,000 A 644,500




A= BRMYRER = e
Hu: g DNBHALA
&2 NHSXHIHALSY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 638,000
< 170,500
403 X SHHS =0l & 808,500 1,453,000 A 644,500
= 638,000
< 170,500
01 XM A2E X 808,500 1,453,000 A 644,500
OFIINSAHE S 605,500
= 435,000
< 170,500
OMIINsXHsSHEAEZet A=K 203,000
= 203,000
g2 7,971,900 5,566,800 2,405,100
= 5,583,880
< 2,388,020
HoI=3gd£xed 136,500 0 136,500
= 105,000
< 31,500
403 MHXSHHSA=0l& 136,500 0 136,500
= 105,000
< 31,500
01 HXSHMA=LE X 136,500 0 136,500
OmJIsdEH s 136,500
= 105,000
< 31,500
=CAAXAUIINS AL 84,000 274,800 A 190,800
= 70,000
< 14,000
403 MtXISHHE =01 & 84,000 274,800 A 190,800
2 70,000
< 14,000
01 AXISHHA=2E = 84,000 274,800 A 190,800
OMd=sAHUE XA 84,000
= 70,000
< 14,000
SO EXM2XNS 7,598,400 5,292,000 2,306,400
= 5,318,880
< 2,279,520
403 A X EHHS =0l A 7,598,400 5,292,000 2,306,400
= 5,318,880
= 2,279,520
01 X EHHMA=E L 7,598,400 5,292,000 2,306,400
O=colEMelZ XN SHEALS 7,598,400
= 5,318,880
< 2,279,520
E24sdaxy 153,000 0 153,000
= 90,000




AR BLETER SN BYFD
M N NSEHAEAXY
ool gEodsERe (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 63,000
403 MtXISHHSA=0l& 153,000 0 153,000
= 90,000
< 63,000
01 XM A=2E X 153,000 0 153,000
EeYHBXTLANY 153,000
= 90,000
< 63,000
IS EANS 1,016,300 1,850,300 834,000
2 656,000
< 360,300
IS HE S A 592,800 520,000 72,800
2 456,000
< 136,800
308 XXM SOIA 592,800 520,000 72,800
= 456,000
= 136,800
01 AXHHBILEES 592,800 520,000 72,800
OEAIENZH 592,800
= 456,000
< 136,800
JRAEESSE#M Y IRHES N 350,000 340,000 10,000
= 200,000
< 150,000
201 Let249] 12,000 12,000 0
= 6,000
< 6,000
01 At 22l 12,000 12,000 0
Oggt=2tl 12,000
OJAHEAFEEER 12,000
= 6,000
< 6,000
307 PI2H0| & 158,000 168,000 10,000
= 79,000
< 79,000
02 It S AIHE L 158,000 168,000 A 10,000
OOl feddd s 108,000
= 54,000
< 54,000
OJIZHSNSHH2E(T) 50,000
= 25,000
< 25,000
308 XtXIEHHSOIA 180,000 160,000 20,000
= 115,000
< 65,000
01 HXNHHBHEELS 180,000 160,000 20,000




AR BLETER SN BYFD
Hu: g DNBHALA
Sl IS HEE NS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OO ABHEAMSEAMGXR 150,000
= 100,000
< 50,000
OJIZBHSNESHIHSIG (AZ) 30,000
= 15,000
< 15,000
SMEZEHINLIF 73,500 20,500 53,000
201 Let249] 10,000 17,000 A7,000
01 At 22l 10,000 17,000 A7,000
Oggt=2tl 5,000
OLEEINSHEZR 5,000
O=2g=¢ 5,000
O=MERAAB BN+ 5,000
202 044l 3,500 3,500 0
01 S LHOIYI 3,500 3,500 0
O=sMdYEMONL =N 3,500
308 X EHHSOIA 60,000 0 60,000
01 HIXNHHNBMNEES 60,000 0 60,000
OclotssMZd2I|Hs 60,000
A I ol = KA 50,000 40,000 10,000
ST 2HM=WXS(=HEEHXH) 50,000 40,000 10,000
308 XX EHSOIA 50,000 40,000 10,000
01 HIXNHHNBNEES 50,000 40,000 10,000
OdHI=HSHXS 50,000
A8 H - 2el2 st 9,189,500 10,817,900 A 1,628,400
= 1,804,000
Xl 4,370,000
< 3,015,500
NHAMEHSRAEH 6,686,200 8,940, 100 A 2,253,900
= 1,280,000
Xl 4,370,000
< 1,036,200
St E Y2 LY 845,000 650,000 195,000
= 650,000
< 195,000
403 MtXISHH S0l & 845,000 650,000 195,000
= 650,000
< 195,000
01 XS M A=2EE 845,000 650,000 195,000
O=2)tdH =282 d 845,000
= 650,000
< 195,000




AR HFNYTRR SN BIIMD
Ha: NHYLH - velLs
S ANAHMEIs|xY Ctel &)
AR RA BB OBH) - MBEAY - BAS ﬁlf& HD=2
ANASBAEXOIEAE 4,801,200 8,044,600 N 3,243,400
Xl 4,370,000
= 431,200
403 XX S S K201 A 4,801,200 8,044,600 N 3,243,400
Xl 4,370,000
& 431,200
01 HXHNMAHESEE = 4,801,200 8,044,600 N 3,243,400
OUMSLAME E U2 (XNETH|) 500,000
Xl 500,000
XA AMEFS X (KIS S HI) 300,000
Xl 300,000
OJHSEXNFTHMEI 2R (XEZH|) 737,400
Xl 700,000
o= 37,400
OMMAMOMXZTHMB B (XNSESH]) 500,000
N 500,000
CHII2I B EMENOIS (RIEZH|) 448,800
Xl 400,000
& 48,800
OSSsAEAME A (NS ) 280,000
Xl 280,000
OJSMME 2R (XEEHI) 540,000
Xl 540,000
OJOkAt S HI A =2 (XIS S HI) 585,000
Xl 450,000
= 135,000
OSSN STHMEHZ2RKA(KNEZH|) 390,000
Xl 300,000
& 90,000
OAMNMIFMEBR(XNESH]) 260,000
Xl 200,000
= 60,000
OHMNAMPRSX M2 (XS ZH]) 260,000
Xl 200,000
== 60,000
ANAMESATHEFEE Y| 4,000 4,000 0
202 04 d| 4,000 4,000 0
01 2LHoi bl 4,000 4,000 0
OXNHAME SN F=E0 G 4,000
2N ESJASHAA 155,000 231,500 AT76,500
= 100,000
& 55,000
201 YEr2 Y| 20,000 20,000 0
2 10,000
== 10,000
02 533294l 20,000 20,000 0




AR BALYTER SN BT
Ha: NHYLH - velLs
Sl X MBI B E Y (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OA&E EHI R XY 20,000
O2EL - ===z NEZEEH0XN=2EHE 20,000
= 10,000
< 10,000
308 AHXIEHHSOIA 135,000 205,500 270,500
= 90,000
< 45,000
01 HXNHHNBHNEELS 135,000 205,500 AT70,500
O2Ec=NE2SJASHIA 135,000
= 90,000
< 45,000
MEl2ZXNEXNE - 4 65,000 0 65,000
= 50,000
< 15,000
308 XXM SO0 A 65,000 0 65,000
= 50,000
< 15,000
01 IXNSHHBNEES 65,000 0 65,000
DM 2ZXNIXNESEAS 65,000
= 50,000
< 15,000
MEHS2AHEH 816,000 0 816,000
= 480,000
< 336,000
403 A X EHHS =0l A 816,000 0 816,000
= 480,000
< 336,000
01 X EHHMA=ZLE L 816,000 0 816,000
OXNAMEI B2 MEIS0IH)ES 816,000
= 480,000
< 336,000
SN ASSHALY 1,170,500 889,500 281,000
CEISAEHAY 1,013,500 733,500 280,000
203 YR =&l 13,500 13,500 0
03 AIF=XH R =X H| 13,500 13,500 0
ogasgges=a 13,500
403 MtXSHHE X0l & 1,000,000 720,000 280,000
01 XS M A=2E X 1,000,000 720,000 280,000
S8 I3 I A 500,000
O2ZMHCEE S EHAY 200,000
OFSM S EHAMY 300,000
CEIJ2IHXR 150,000 150,000 0
308 XX HMSOIA 150,000 150,000 0
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=2 278,044,400
Xl 76,885,000
J| 2,924,000
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J| 2,924,000
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O=2elll 2L [ I3 XAlI& 8,000
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202 044l 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
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203 YR EAH| 9,000 9,000 0
03 AIZ=XH 2 =AY 9,000 9,000 0
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310 =22/ 0|1 ™ 300,000 600,000 A 300,000
02 =HERE23 300,000 600,000 A 300,000
OM7XHMASZEENIXNKNHNEE = 300,000
SHE=EY 21,000 162,000 A 141,000
201 LBt 6,000 7,000 A 1,000
01 AP 22| H| 6,000 7,000 A 1,000
Oeds¢ 6,000
OHBA=SCSALESAJASE 6,000
203 R F & 5,000 5,000 0
03 Al ZH =& 2= X H| 5,000 5,000 0
O2NgeEE2F4A 5,000
307 gizto| & 10,000 30,000 A 20,000
02 QIZIA AAIE E X 10,000 30,000 A 20,000
OS¢ =d2A T HUMALAS 10,000
2T A A2 93,300,200 82,646, 105 10,654,095
= 140,400
Xl 76,885,000
J| 2,924,000
o= 13,350,800
MNLERABS AAFOIX ALY 92,000 97,605 A5,605
= 92,000
403 XX SRS R 20| & 92,000 97,605 A5,605
= 92,000
01 MXHHXNE2BE =X 92,000 97,605 A5,605
O&4+8257 =X AY 92,000
= 92,000
MASESSsSUHIS 2NN 63,100 30,000 33,100
= 48,400
= 14,700
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= 14,700
01 XIS A2E X 63,100 30,000 33,100
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Xl 60,896,000
=) 7,362,000
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OsHEMEEFMNLEAL (NS EH]) 68,258,000
X 60,896,000
=) 7,362,000
ARESSAIEIN AN 8,453,000 7,572,000 881,000
Xl 7,490,000
< 963,000
403 A X EHHS 20l A 8,453,000 7,572,000 881,000
Xl 7,490,000
= 963,000
01 X ESHMA=E L 8,453,000 7,572,000 881,000
OARAZSTAIEMSAIL (XIS EH|) 8,453,000
Xl 7,490,000
= 963,000
S NRSA =20 AS 4,514,000 1,693,000 2,821,000
Xl 4,000,000
= 514,000
403 XSS A=0l& 4,514,000 1,693,000 2,821,000
X 4,000,000
< 514,000
01 X SHMA=2E X 4,514,000 1,693,000 2,821,000
OSMXSA =AML AL (XIS EH|) 4,514,000
Xl 4,000,000
< 514,000
SENEH=2+2MNdAS 2,924,000 4,546,000 A 1,622,000
J| 2,924,000
403 XIS E X201 E 2,924,000 4,546,000 A 1,622,000
J| 2,924,000
01 X SHHN2E = 2,924,000 4,546,000 A 1,622,000
OYsXgd=+2MdAS 2,924,000
J| 2,924,000
DEZHAAEEXAIEALS 2,755,000 4,500,000 A 1,745,000
Xl 2,121,000
< 634,000
403 RXISH S X0l & 2,755,000 4,500,000 1,745,000
Xl 2,121,000
< 634,000




AR BINYNER SN 24YD
M AASZEd3HELSMSFTH
&l S AE2e (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 2,755,000 4,500,000 A 1,745,000
ODEH>HMAANEEXANEMS (RNSSY) 2,755,000
Xl 2,121,000
< 634,000
DEH=HMelAMEEXAE 1,355,000 0 1,355,000
Xl 1,200,000
< 155,000
403 MHXISHE X201 & 1,355,000 0 1,355,000
Xl 1,200,000
< 155,000
01 X SHHN2E = 1,355,000 0 1,355,000
ODEFSHeAMEEAL (XS ZH) 1,355,000
X 1,200,000
S 155,000
AT A X H2ACAAG RS AY 1,767,000 3,943,000 A 2,176,000
Xl 1,178,000
< 589,000
403 A X EHHSH20IA 1,767,000 3,943,000 22,176,000
Xl 1,178,000
< 589,000
01 X ESHHMA=LE L 1,767,000 3,943,000 A2,176,000
OA-2UXNAA A 2SAL(NSEEY) 1,767,000
Xl 1,178,000
= 589,000
CEESFMNAAS 2,123,000 2,123,000 0
403 XSS A=0l& 2,123,000 2,123,000 0
01 RHXISHHAEEE 2,123,000 2,123,000 0
OLsF2FWLAY 2,123,000
NNga=EIHEAY 900,000 700,000 200,000
403 MtXISHHE X201 E 900,000 700,000 200,000
01 R SH KL% 900,000 700,000 200,000
mPYEIPN RN TP 900,000
=T A2 RFN 36,100 22,500 13,600
201 Let24d] 24,600 11,000 13,600
01 At 22/l 10,000 10,000 0
Ogst=2Hl 10,000
OMNSREEILLRASHES 10,000
02 232gHl 14,600 1,000 13,600
O332aYAA 1,000
Ost=2 45t 82l 1,000
OAE EHI R XY 13,600
O3 Xl EAAE S 22 8] 13,600
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202 Od4dl 11,500 11,500 0
01 = LH 4 Hl 11,500 11,500 0
O=SANd22BRFA0UI 11,500
BEIIZANLEES 289,332,000 303,439,000 A 14,107,000
= 277,904,000
=) 11,428,000
St Al 2e| 273,030,000 282,560,000 29,530,000
= 263,484,000
=) 9,546,000
St=HMel &S At 38,121,000 27,390,000 10,731,000
= 33,296,000
< 4,825,000
403 XSS A=0l& 38,121,000 27,390,000 10,731,000
= 33,296,000
S 4,825,000
01 AXISHHA=2E = 38,121,000 27,390,000 10,731,000
Oct=HMelHaS A 38,121,000
= 33,296,000
< 4,825,000
St=HMel &S ALY (AL 13,400,000 17,386,000 23,986,000
= 12,028,000
=) 1,372,000
403 XIS E X201 E 13,400,000 17,386,000 23,986,000
= 12,028,000
= 1,372,000
01 X SHHAN2E = 13,400,000 17,386,000 23,986,000
Oct=Hel Z&S ALY (A 13,400,000
= 12,028,000
< 1,372,000
ot=2tZ ZHIAHY 68,044,000 66,055,000 1,989,000
= 68,044,000
403 RXISH S K20l & 68,044,000 66,055,000 1,989,000
2 68,044,000
01 HXISH A2 X 68,044,000 66,055,000 1,989,000
Oot=2 2 FHI At 68,044,000
= 68,044,000
=22 M YA (21 X}) 5,973,000 6,924,000 A 951,000
= 5,973,000
403 Lt XIS A S X201 & 5,973,000 6,924,000 951,000
= 5,973,000
01 AXSHMA=2E X 5,973,000 6,924,000 A 951,000
Clot=2= Z A (21 XH) 5,973,000
= 5,973,000
St 2 HIAE (&) 730,000 500,000 230,000
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403 UHXSHHSA=0l& 730,000 500,000 230,000
01 X SHMA2E X 730,000 500,000 230,000
Oot=2 =2 FHI At 500,000
OasdEsXYot=2 20 ALY 230,000
st ZEE XA 4,105,000 7,532,000 A 3,427,000
= 3,831,000
< 274,000
403 A X EHHS 20l A 4,105,000 7,532,000 A 3,427,000
= 3,831,000
< 274,000
01 X EHHMA=LE L 4,105,000 7,532,000 A 3,427,000
OecASt=HMel 4 XA 4,105,000
= 3,831,000
< 274,000
SHE0Sot=SFHIA Y 33,309,000 34,623,000 A 1,314,000
= 31,372,000
< 1,937,000
403 XSS A=0l& 33,309,000 34,623,000 A 1,314,000
= 31,372,000
S 1,937,000
01 XM A=2E X 33,309,000 34,623,000 A 1,314,000
Os0HE0tSot= =3I A S 33,309,000
= 31,372,000
< 1,937,000
St=HMelZesidel3asE 8,669,000 7,469,000 1,200,000
= 8,669,000
403 MHXISHHE X201 H 8,669,000 7,469,000 1,200,000
= 8,669,000
01 XM A=2EE 8,669,000 7,469,000 1,200,000
Oot=HMel¥EshHEcsa& 8,669,000
= 8,669,000
St NS A= 4 & 3,134,000 6,328,000 A 3,194,000
= 3,134,000
403 AXIEHHS 20l A 3,134,000 6,328,000 A 3,194,000
= 3,134,000
01 X ESHMA=E L 3,134,000 6,328,000 A 3,194,000
Oot=2HEN2CI 34 e 3,134,000
= 3,134,000
St H ZHIBTLAME A HE X = 70,833,000 63,933,000 6,900,000
= 70,833,000
403 XSS A=0l& 70,833,000 63,933,000 6,900,000
= 70,833,000
01 XM A=2E X 70,833,000 63,933,000 6,900,000
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Oot=2HFHIBTLAIS L HE X = 70,833,000
= 70,833,000
St=Xel=TH0l E At 10,224,000 18,874,000 A 8,650,000
=2 9,894,000
< 330,000
403 UtXISHH S0l & 10,224,000 18,874,000 A 8,650,000
2 9,894,000
< 330,000
01 XM A=2EE 10,224,000 18,874,000 28,650,000
Lot==XMel=MOol S At 10,224,000
2 9,894,000
< 330,000
SANE=UHEAY 16,410,000 0 16,410,000
= 16,410,000
403 A X EHS =0l A 16,410,000 0 16,410,000
= 16,410,000
01 X EHHM A= LE L 16,410,000 0 16,410,000
OZAE=UHEAY 16,410,000
= 16,410,000
St A2 2= 78,000 28,000 50,000
201 ¢4l 16,000 16,000 0
01 At 2t 2l 10,000 10,000 0
Oget==2H| 5,000
OMNREEFLLRASHMHES 5,000
O2d=¢ 5,000
Ot 2| R USAZA X A =E 5,000
02 =224l 1,000 1,000 0
O3 2 A 1,000
Ogt=stE a2l 1,000
03 A2 S HI 5,000 5,000 0
ot RAHR AT 5,000
202 oddl 12,000 12,000 0
01 = LH o4 1l 12,000 12,000 0
Oot=S Al d2e|gRFE 0 12,000
207 A RO EH] 50,000 0 50,000
01 A7 39l 50,000 0 50,000
O sL2eldI2HE-8gEdy 50,000
Q% - 2uHaAALBL 16,302,000 20,879,000 4,577,000
= 14,420,000
< 1,882,000
HelGt=X el A8 & XX & 115,000 62,000 53,000
= 115,000




AR BALYTER SN SMYD
Hu: BAIEALSE
Chelr @5 - R HaAE 2 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 115,000 62,000 53,000
= 115,000
01 HXHMA=LE X 115,000 62,000 53,000
OoHeldt=xelAld & X X & 115,000
= 115,000
EaMAE=SALY 1,112,000 0 1,112,000
=2 933,000
< 179,000
403 MtXISHHE X201 & 1,112,000 0 1,112,000
2 933,000
< 179,000
01 XS M A=2EE 1,112,000 0 1,112,000
O HMelAlE &S A 1,112,000
2 933,000
< 179,000
NEEISSHeAANEEX ALY 14,375,000 12,246,000 2,129,000
= 13,372,000
= 1,003,000
403 A X EHHS =0l A 14,375,000 12,246,000 2,129,000
= 13,372,000
= 1,003,000
01 X EHHMA=LE L 14,375,000 12,246,000 2,129,000
OIEEa33HeAEEX ALY 14,375,000
= 13,372,000
< 1,003,000
SSHEAMEAY 700,000 500,000 200,000
403 XA SA=0l& 700,000 500,000 200,000
01 HXSHHMA2E X 700,000 500,000 200,000
OSSN AE 700,000
dFY2HAH (S L) 110,955 85,650 25,305
JlE3l 110,955 85,650 25,305
JlE2&l 110,955 85,650 25,305
201 Zet24] 63,050 52,100 10,950
01 At 2t 2l 63,050 52,100 10,950
Oget==&H| 40,250
ONRESLASLIZEFYS 20,350
OStgsdaEaarels 10,000
OSZEANHBMNSRHERS 5,000
OME, 8X,EM7LH 3,500
OngsdES 1,400
Ogxts 9,600
OSHILAMT=S A ST ST Xt 9,600
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N = 0l & At & Ml A

AZ: BANYTR SN AT D
Hu: MPFYIIBRE
Sl MAYTY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
&b XHR Dt 81,460,826 78,956,631 2,504,195
= 55,599,912
Xl 3,596,000
= 22,264,914
MHIFI|B RS 68,416,433 67,558,442 857,991
= 45,391,299
Xl 3,596,000
< 19,429,134
drEME RS 45,540,698 43,670,642 1,870,056
= 31,724,430
Xl 3,596,000
< 10,220,268
=JHR0| 33,405,127 33,246,641 158,486
= 25,718,867
< 7,686,260
403 A X EHHS =0l A 33,405,127 33,246,641 158,486
= 25,718,867
=) 7,686,260
01 X EHH A= LE XL 33,405,127 33,246,641 168,486
O=Jt380| 33,405,127
= 25,718,867
=) 7,686,260
P4t 63,786 65,883 A2,097
= 51,050
< 12,736
403 UHXSHHSA=0l& 63,786 65,883 A2,097
= 51,050
< 12,736
01 HXSHMA2E X 63,786 65,883 A2,097
ORI 63,786
= 51,050
< 12,736
FEALU=0EEE 6,363,987 5,882,308 481,679
= 5,160,113
< 1,203,874
308 XXM SO A 248,134 294,484 A 46,350
= 190,034
< 58,100
01 AXHHBISEES 248,134 294,484 A 46,350
D=3 248,134
= 190,034
< 58,100
403 A X EHHS K20l A 6,115,853 5,587,824 528,029
= 4,970,079
< 1,145,774
01 X ESHHMA=2LE L 6,115,853 5,587,824 528,029
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O¥zgesssd 6,115,853
= 4,970,079
< 1,145,774
MEASAHS 180,000 470,000 A290,000
403 MtXISHHE X201 E 180,000 470,000 A 290,000
01 AXISHH A2 E= 180,000 470,000 A290,000
CIFTACHEI Xl & E gAY 180,000
ASHIOIQINAES 913,094 789,132 123,962
= 695,900
< 217,194
403 MHXI S E X201 H 913,094 789,132 123,962
2 695,900
< 217,194
01 X HHMA=E L 913,094 789,132 123,962
DA HIOI QA= S 913,094
= 695,900
= 217,194
AHBATASH(XS) 3,883,554 2,598,328 1,285,226
Xl 3,596,000
< 287,554
403 Mt SHHSA=0l& 3,883,554 2,598,328 1,285,226
X 3,596,000
< 287,554
01 X SHMA2E X 3,883,554 2,598,328 1,285,226
Ogcaelal(XNSZH) 477,168
Xl 439,510
= 37,658
Ogee2x(XNEZH!) 1,333,786
Xl 1,228,490
=) 105,296
OSMHESHEE L (NSZHI) 2,072,600
Xl 1,928,000
< 144,600
LHINAHEHES 117,650 252,850 A 135,200
= 90,500
< 27,150
403 MtXISHH S A0l & 117,650 252,850 A 135,200
= 90,500
= 27,150
01 X SHHAN2E= 117,650 252,850 A 135,200
DI AEH 2 117,650
= 90,500
< 27,150
AR A ALY =& 557,500 315,500 242,000
201 Let24d] 109,000 109,000 0
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Sl MAYTY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SO E AL 20,000 20,000 0
201 £B-2d| 20,000 20,000 0
03 &AH2 I 20,000 20,000 0
CJatel g ol g &l At 20,000
LS & D1 &AL 28,000 30,000 A2,000
307 glz2tol & 28,000 30,000 A 2,000
04 QIZFHALALH 2 = 28,000 30,000 A2,000
OUSAII ALK& 28,000
STHAEMI IR S 8,000 0 8,000
= 8,000
308 XtXIEHH SOl A 8,000 0 8,000
= 8,000
01 XML EES 8,000 0 8,000
O3Maaoetxd 8,000
= 8,000
MENEEH 8,542,503 10,109,075 A 1,566,572
= 7,245,580
< 1,296,923
N 3,464,419 4,343,823 A879,404
= 3,100,129
< 364,290
206 = Hl 3,406,084 4,168,818 AT62,734
= 3,070,961
= 335,123
01 =8l 3,406,084 4,168,818 AT62,734
OXSAMEI2MH 3,406,084
= 3,070,961
=) 335,123
401 Al HIZ 201 Y] 58,335 175,005 A 116,670
= 29,168
= 29,167
01 A& HI 58,335 175,005 A 116,670
OZ2ussdxd 58,335
= 29,168
< 29,167
TE(XE) 4,498,135 5,327,398 A 829,263
= 3,695,501
< 802,634
403 Ut S E X201 & 4,498,135 5,327,398 A 829,263
= 3,695,501
< 802,634
01 X SHHAN2E=x 4,498,135 5,327,398 A 829,263
O Mg 4,498,135




AZ: BANYTR SN METE D
Hu: MPFYIIBRE
Col: METIRE N (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 3,695,501
< 802,634
AHAIAHEHL(XE) 251,485 228,670 22,815
= 193,450
< 58,035
308 A EHSOIA 251,485 228,670 22,815
= 193,450
< 58,035
01 HIXNHHNBMNEELS 251,485 228,670 22,815
EREEEDEE 251,485
= 193,450
< 58,035
MEEEIE 287,280 168,000 119,280
= 256,500
< 30,780
403 UtXISHH S A0l & 287,280 168,000 119,280
= 256,500
< 30,780
01 XS M A=2EE 287,280 168,000 119,280
Ot sadEXA 287,280
= 256,500
< 30,780
AT AL 2tel 41,184 41,184 0
308 MtXIEHMSOIH 41,184 41,184 0
01 HIXNHHBHEELS 41,184 41,184 0
OgsZe|2LHREA
52,000 449 60 «30/ 100 41,184
AtETHOH Ol 2 R ==+ 14,333,232 13,778,725 554,507
= 6,421,289
= 7,911,943
&= 2ERICH 2 281,375 334,375 A 53,000
= 112,550
< 168,825
201 Let2d] 6,800 9,800 A 3,000
= 2,720
< 4,080
01 At 22l 6,800 9,800 A 3,000
O=2g8=¢ 6,800
OMEEZIMBR2ASZ 0N 6,800
= 2,720
< 4,080
301 et a3 3,000 0 3,000
= 1,200
< 1,800
MIIEELES 3,000 0 3,000




AZ: BANYTR SN METE D
Hu: MPFYIIBRE
Sl MUY R=T CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OS2 ZAE2ZEE2Y 3,000
= 1,200
< 1,800
307 21201 A 271,575 271,575 0
= 108,630
= 162,945
05 RIZt2IEt = 271,575 271,575 0
Oer2 8 stolsd =S &It 271,575
= 108,630
= 162,945
MELXIHE(XH) 8,437,509 8,376,202 61,307
= 5,819,027
< 2,618,482
308 AHAIEHHSOIA 7,346,805 6,883,708 463,097
= 5,066,763
< 2,280,042
01 HXNHHNBMNELS 7,346,805 6,883,708 463,097
OMS2 XX 7,346,805
= 5,066,763
S 2,280,042
403 MtXISHH S0l & 1,090,704 1,492,494 A 401,790
= 752,264
< 338,440
01 X S22 = 1,090,704 1,492,494 A 401,790
OAHS 2RI CH 26 AL S 1,090,704
= 752,264
< 338,440
A2 2 X CH 24 4,726,160 4,501,620 224,540
308 MtXIEHMSOIH 4,146,560 3,975,120 171,440
01 HXNHHNBHELS 4,146,560 3,975,120 171,440
a2 Al Al
42,0009 x180 * 1,360 20/ 100 2,056,320
ONMEZNERE
2,000% *24 =180 1,360 20/ 100 195,840
ORI & 3 EHI M E
200,000 x 1,360 Ml E+20/100 54,400
RS =—=FSE=ia-"WI NIy 1,840,000
403 UHXSHHSA=0l& 579,600 526,500 53,100
01 HXSHMA=LE X 579,600 526,500 53,100
O X & X 3t A 3k 7
3,750,000& *20K£ *20/100 15,000
OMEHERoYSAIA
14,000,000 *20CH *20/ 100 56,000
OorsEUXNERNsE S
2,500, 000& *630CH *20/ 100 315,000
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NEEEBEEE
ST YT

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 406,016 203,010 203,006
= 312,320
< 93,696
01 HIXNHHBHNEELES 406,016 203,010 203,006
CIAHAMER S E ol & & 406,016
= 312,320
< 93,696
S22 13,000 5,000 8,000
201 LBt2E| 13,000 5,000 8,000
03 &Ar2 Gl 13,000 5,000 8,000
OMES A IS =F 13,000
MNEEZEELEASZEYE 12,492,912 10,861,430 1,631,482
= 10,181,422
= 2,311,490
MBMENHES 1,660,009 1,716,438 256,429
= 1,213,632
< 446,377
HEHAESAY 1,283,009 1,339,438 A 56,429
= 1,143,632
< 139,377
308 XtXIEHHSOIA 59,590 59,590 0
= 59,590
01 XML EES 59,590 59,590 0
OHREHAALASLZAZIE 59,590
= 59,590
403 Ut SHHSA=0l& 1,223,419 1,279,848 A 56,429
= 1,084,042
< 139,377
01 HXESHMA=LE L 1,223,419 1,279,848 A 56,429
OUSHAFAASKH 1,223,419
= 1,084,042
< 139,377
ESYMEES A2 307,000 307,000 0
308 XXM SO A 307,000 0 307,000
01 IXNHHBNEES 307,000 0 307,000
O2ss+2el 307,000
MEMEOALSE 70,000 70,000 0
= 70,000
308 XX EHHSOIA 70,000 0 70,000
= 70,000
01 AXHHILEES 70,000 0 70,000
O RddEs s 2
70,000,000 70,000
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HHES 10,832,903 9,144,992 1,687,911

,967,790
1,865,113

1
@

A HM S (XIR) 10,434,472 8,100,306 2,334,166

,967,790
1,466,682

Hn H
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308 XXM S0I™ 10,282,727 7,953,861 2,328,866
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403 A X EHHS =0l A 151,745 146,445 5,300
116,727
35,018

o

01 HXSHH = xE 151,745 146,445 5,300

Odas gl s M AZ 2 161,745
116,727
35,018

oW

>

g S 398,431 313,592 84,839

308 MtXIEHMSOIH 398,431 313,592 84,839

= 398,431 313,592 84,839
Ml 100,000

47,9303 *300 46 30/ 100 198,431
Outdais=ZdIIS 100,000

S AU (M AR D) 151,481 136,759 14,722
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124,290

oW
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27,191
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o
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27,191
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401 Al HIZ 201 I 148,000 0 148,000
X 74,000
S 74,000
01 Al&HI 147,000 0 147,000
OROt=MEAZHE (NS ZH|) 147,000
Xl 73,500
= 73,500
03 Al S HHI 1,000 0 1,000
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AR BINYNER SN aYBHAD
M MY PWLEE
Sl MMM ET (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
||| R EEEEENEEREEE: 19,000
HHSHAH (MESHEARS) 2,467,725 2,383,962 83,763
=2 83,041
& 2,384,684
ol 2AHHY| 2,082,015 2,017,782 64,233
=2 83,041
== 1,998,974
ol 2A | 1,915,932 1,855,884 60,048
101 2121 4| 1,839,552 1,797,924 41,628
01 22 1,448,323 1,461,231 A 12,908
mPIR=3=] 1,093,734
O EH 76,948
- 42 76,948,000& x1H 76,948
Oz sH 913,427
-52 (285 L) 4,000,400 x3H x12& 144,015
-6z (245 2) 3,341,800 »8H x12& 320,813
-72 (145 2) 2,537,500& 7 x12& 213,150
-8z (122 2) 2,159,000& x5H x12& 129,540
- RAH(18E E) 2,941,900& 3 128 105,909
odzx¢ 913,427,000 *1/12x50%*2 3] 76,119
(GRS = PN = 27,240
- 25E 0] & 130, 000& 7Y x12& 10,920
- 204 0| &H~25E 0] 2t 110,000& *4H x12& 5,280
- 1549 0l & ~20 0] 2F 80,000& x4H x12& 3,840
- 108 0| A ~15 0] BF 60,0003 x5H x12& 3,600
- 5E 0l AF~10E D] BF 50,0003 x6H x12& 3,600
O+ 176,173
(@ Jo: =1 15,391
-RsREY 15,391
52U 3,308,950& x4 . 1%*x6H x12& 9,769
623U R 2,657,400& x4 1%*1H x12& 1,308
AR R
2,922,700 x4 1%*x3H x12& 4,314
OJHEAE L 36,986
- EsE 27,720
- B X 40,0003 278 x12& 12,960
- JIEFIVS 40,000 278 x12& 12,960
iR 30,0003 x5 x12& 1,800
- XMHESHHI B x4 9,266
nssn 463,300 x5H 43| 9,266
OS2 2Y 14,640
-S40 0lsd3Esd) 11,760




SHD B (BH) - NEAY - BAS O 4t o8 il
e T=1 50,000& »2H x12& 1,200
- 6,73 30,000& *x11H ~12& 3,960
- 8320l at 20,000 x3%H x12& 720
JEAFZ2 (DAL 30,000& x13¥ ~12& 4,680
DRSS (AHE DAL 20,000& x4H x12& 960
S (28d) 20,0003 x1H ~12& 240
-HRHERE Y 80,000& 3P x12& 2,880
O=uz224e 107,956
-AZE 2R E 107,956
HHZ 9,886& x10A| 2t*x26H 128 30,845
= 9,886& x25A| 2t*x26H x12& 77,111
ORHBRILY 50,000 x23H x12€ 1,200
O A ZAH| 130,000 x27H x12& 42,120
OYEEF Ot 913,427,000 *1/12x60%* 23] 91,343
OAHIE &I
990, 375,000& *1/12%86%*1/30%x 19 44,953
02 JIEt& E % 143,203
O H <R 143,203
o9 116,804
= 44,632,000 =14 44 632
-3 36,086,000& x2H 72,172
OiIEs=Y 3,960
- B < Xt 40,0003 +»3E x12& 1,440
- JIEHDHE 20,000 x6H x12& 1,440
- Jhak=2 30,0003 *x3H x12& 1,080
Ox22Y 12,457
- A2 2R 12,457
PSSl 9,886 *10Al 2+ *3H 128 3,559
Eni 9,886& *25A| 2t*3H x12& 8,898
OFHZAH| 130,000 x3H »12& 4,680
OG I E A
116,804,000 *1/12%86%*1/30%* 19! 5,302
03 RINHAZ22XNHE %= 248,026
OSHxZ 2 24,150
[OPIR==| 1,339,200& x1H x12& 16,071
o&an=3 16,070,400& *1/12%x320% 4,286
Od Xt 44 6403 x1H 18 804
ozas+¢ 42,000 12«1 504
OiIEx=Y 960
- B 2 Xt 40,000& x12& 480
- JIEHHS 20,000& x2H x12& 480
OANZIA2 RS
45 1702 %1.5/8%15A1 2Hx 1 x12& 1,525




AR BINYNER SN AYBHADE
MY B2 (MUBAAR)
Sel: o2y (B9 ®R)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
OAMegs2eld 23,910
OoJlzs 1,339,200 »1¥ 128 16,071
Oo&n= 16,070,400 = 1/12%320% 4,286
Og X4 44,6403 «1H » 18 804
o254 42,0002 «1H « 128 504
OJt&E=¢ 720
- i< Xt 40,0003 <128 480
- JIEHOHS 20,0003 x1H » 12 240
OAZ2 =g
45,1702 *1.5/8+ 1541 2t 1 » 128 1,525
OEsgzeld 25,970
oJle= 47,9303 «302 x 128 17,255
oddn= 17,254 ,800& = 1/12%320% 4,602
OgXt==g 47,930 «1H » 182 863
o254 56,000 «1H x 128 672
O=&E=g 960
- B X 40,0003 x12& 480
- JIEHOHE 20,0002 «2H « 1228 480
ONeaRLY
47,930 1.5/8*15A1 2t 1H » 128 1,618
OAURHEsHERA 50,859
oJlzs 47,9303 «30L x 123 x2H 34,510
Oo&N= 17,254,800& *1/12%320%*2L 9,203
OAR=< 47,9303 «2H 182 1,726
o254 1,224
- 1080l & 74,0002 «1H * 128 888
- 104 0] et 28,0002 «1H « 122 336
Ot&E=¢ 960
- B Xt 40,0002 «1H =128 480
- JIEHOEHS 20,0003 «2H 122 480
OANMZe 2R+
47,930 *1.5/8*15A 2t 2B »12& 3,236
OANgEdEREXR 48,177
oJle= 1,339,200& »2H «12& 32,141
Oa0= 16,070,400 «2H »1/12%320% 8,571
OARt=< 44 6402 «2H 182 1,608
oz2s=+¢ 1,368
- 1080l & 72,0003 122 864
- 104 0/ 8+ 42,0003 x12& 504
OX=E=g 1,440
- B X 40,0003 «1H * 12 480
- JIEHOHE 20,000 «4H « 122 960




o= ZaE = SN OEHEHHARA
MY B2 (MUBAAR)
Sl ol ) CERED
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
SNEFEEET:
45,1703 +1.5/8%15A1 2+ x2H x12& 3,049
Ons&Exl 60,0003 «7H x12& 5,040
O E F0tdl 600, 0003 +7H +23] 8,400
OZ3 Mg Al 130,000 x7H » 128 10,920
0= 40,0003 «10L «7H 128 33,600
CI5CHALE 2 17,000
204 A=A H| 76,380 57,960 18,420
02 g2 2l 58,980 57,960 1,020
p=; 400,000& 1 122 4,800
5= 250,000& «3H x12& 9,000
Oé=, oAt 155,000 x 13 «12& 24,180
ara 140,000& x11H 128 18,480
8= 105,000 »2H »12& 2,520
03 EZYFZHI 17,400 0 17,400
e &=l 50,0003 *29H x12& 17,400
ol 2IHI(EX) 166,083 161,898 4,185
= 83,041
< 83,042
101 @124 dl 166,083 161,898 4,185
= 83,041
= 83,042
03 RIAHAZZHE =+ 166,083 161,898 4,185
OMEEASHEEAIER 166,083
OoJlzs 47,9303 x5 H 26 L «12& 74,771
= 37,386
< 37,385
O&0= 74,772,000& *1/12%320% 19,940
= 9,970
< 9,970
OFEs=E 4,320
- B Xt 40,000 «4H «12& 1,920
= 960
< 960
- JIEHOLS 20,000 x2H x5 H « 123 2,400
= 1,200
< 1,200
OAR =< 47,9303 76 3,643
= 1,821
< 1,822
O5MALE 2 & 13,487
= 6,743
= 6,744
OZFEJItHI 600,000 x5 *23] 6,000
= 3,000
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- 2049 0| &b ~25 0] 2F 110,000& x1H x12& 1,320
- 154 0] &~20E 0] 2t 80,0003 x6H x12& 5,760
- 10E 0] Ab~15E 0] 2t 60,0003 »3H x12& 2,160
- 5 0] &~10E 0] 2+ 50,0003 x8H x12& 4,800
O 91,861
O&a=<¢ 1,505
-HeRsRALY 1,505
52U < 3,057,000& x4 . 1%*1H x12& 1,505
OJHEAE LS 20,274
-IIEsY 14,760
- B X 40,0003 x19H x12& 9,120
- JIEFIFS 20,000 19+ 12& 4,560
iR 30,0003 *3H x12& 1,080
- XMHESHHI B xS 5,514
nssn 459,500& *3H *43] 5,514
OS2 2Y 7,800
-EFHRA0lsdEsY) 7,800
1= 50,0003 x1H ~12& 600
- 672 30,000& x9x12& 3,240
- 8~92 20,000& x3x12& 720
JEAEZ2 (DI AF) 30,000 *x7x12& 2,520
DEAFZ2 (A DI AF) 20,000& *3x12& 720
OxzU2R+ES 62,282
SAZE 2R E 62,282
HHZ 9,886& *10Al 2+ x15x12& 17,795
U2 9,886 x25A| 2tx15%12& 44 487
O™ HZAH| 130,000& x 15 x12& 23,400
OY&E 50| 601,556,000 «1/12%60%*23] 60, 156
OS2 A
601,556,000 x1/12x86%*1/30* 19 27,304
02 JIEA 2 %= 104,319 99,657 4,662
O s A 104,319
os2(28a2) 2,865,500& x 1 «12& 34,386
o=s2(14s2) 2,278,000 x1¥ x12& 27,336
odzx<¢ 61,722,000 x1/12%50%*23] 5,144
O&Zx=gotdt= 2,280
- 25E 0] & 130,000& x 1 x12& 1,560
- 108 0| A ~15 0] BF 60,0003 *x1H +x12& 720
OJIESY 1,920
- BH S Xt 40,0003 x2H +12& 960
- JIEHDHE 20,000& x4H x12& 960
OXNEsStHIE X4 1,838
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-nssn 459,500 x 1 43 1,838
OAzteZ2+¢ 8,305
-3Uz 9,886& *10Al 2t+2H x12F 2,373
-ZUE 9,886& *25A1 2t x2H 12 5,932
OJIsdesY 20,000 =2H =128 480
OXsSE Xl 105,000& x2H «12& 2,520
Ooug g sl 50,000& «2H 128 1,200
OFAZ A 130,000& x2H «12& 3,120
OFEFItHI 61,722,000% *1/12x60%*23] 6,173
O ItE &t

61,722,000% *1/12%86%+*1/30% 19 2,802
OF-InFJOE=, 2,621,000 x2H x130% 6,815

03 RIAHAZZRHE > 54,971 24,869 30,102
O&ESS2AIE 28,097
OPIR=== 1,339,200& x1H x12& 16,071
Oa0= 16,070,400% *1/12%320% 4,286
OAAR=< 44,6403 x 18 804
OozZ2s+% 63,0002 128 756
OMEBS=4r0Hl 20,0002 x1H +52 » 128 1,200
(@FNE=- N 60,0003 1 122 720
OZFEFItHI 600, 0003 1 %23 1,200
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OXNHFSAERI AL E S 26,874
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&0= 16,339, 200% *1/12%320% 4,358
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OZFEFItHI 600,000 1 *23] 1,200
OF Mg A 130,000& x1H 122 1,560
OS5t Atz 2 16,339,200& *12.5% 2,043
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AR BALYTER SH O BRACHZABANDA
M BHSAAH (ZDNCYDRIIANRL)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=
OFZ2 &Y= 12,720
- 253 0| & 130,000 *1H x12& 1,560
- 20 0| At254 0] 2F 110,000& x5 x12& 6,600
- 108 0| &H15 0] B+ 60,0003 x3E x12& 2,160
- 54E 0] AH10E O] BF 50,0003 x4H x12& 2,400
O+ 80,990
ORsRIY 4,509
-52U R 3,543, 700& x4 . 1%*1H x12& 1,744
-72U2 2,809,000 4. 1%*2H x12& 2,765
ONns< 12,240
- BH < Xt 40,0003 13" x12& 6,240
- JIEHDHSE 20,000 25 x 12€ 6,000
OXNESHHIE X4 7,413
- SsHM 463,300 *4H x43| 7,413
OExX22xY 6,240
- 2Kl 40,0003 x138 x12& 6,240
OREg=22xg 960
-23 40,0003 »2H x12& 960
OS24 3,360
-JlEdEEsY 3,360
6-7=2 30,000& *4H 128 1,440
DHAEZ (DIA) 30,0002 *4% * 128 1,440
NEHSHUBH LR+
40,0003 *x1H x12& 480
OAZIAZ R4 46,268
-HHEZ 9,886& x10A| 2tx13H x12& 15,423
- X2 9,886& *20A| 2tx13H 128 30,845
O &M ZAH| 130,000& 13 x12& 20,280
OY&E S| 432,049,000 *1/12x60%*23] 43,205
OHIE & H|
432,049,000% x86%*1/12%1/30%19 19,611
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O3 & 51,191
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-Jl23(22se) 2,531,300& x 1 x12& 30,376
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OF2 &It =2 1,560
- 253 0| & 130,000 *1H x12& 1,560
OAZIA2 R4 4,746
-HHEZ 9,886& *10Al 2tx1H x12& 1,187
- X2 9,886& *30Al 2 x1H x12& 3,559
OiItEsx=Y 960
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[OFSRS Eay=y 1,920
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- BH S Xt 40,0003 +8H 122 3,840
- JIEHDHE 20,000& 20 ~12& 4,800
O9 X< 44,6403 x8H x 18 6,429
o252 840,000& x12& 10,080
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- 6,72 30,0003 «7H 122 2,520
8= 0l ot 20,0003 «6H x12& 1,440
I3 (D1 AL) 30,0003 x10H ~x12& 3,600
-9z 3,600
=2l x4 150,000 »2H «12& 3,600
-HPHRE 2,880
HARANSRH 80,000 «3Y x12& 2,880
ORYEEsREE 50,0003 1«12 600
RS = Rl 130,000& x23H 128 35,880
O E F0tdl 727,582,000 *1/12%60%*23] 72,759
OIS &b
804,530,000 *86%*1/12%1/30% 192 36,517
02 JIEt A 2+ 221,439
O A= 54,780
og=s 44,831
-ct= 44,831,000 14 44,831
OEs=E 2,400




SH AT

CEB L C(B) - HRAY - BYS il 2
b < Xt 40,0003 «1H =128 480
JIEF IS 20,0003 «4H 128 960

- ZE 80,000 *1H 128 960
OAzteZ22+¢ 2,407
-HUz 8,017 «1H «10Al 2t <122 963
-ZUE 8,017& «1H x15A1 2tx 128 1,444

OsgIz2f=+% 64,4423« 1H 22U 128 1,547

OFAZ A 130,000& x1H 128 1,560

OI=BIERNY

44,831,000 «86%1/12%1/30% 19 2,035
OEdZZE 166,659

k= 2,462,800& «3H 123 88,661

(OFSFmEal=y 88,661,000 *1/12 7,389

OFSE=El= Pl Fag= 3,000

- 209 0l &f 25 0 &t 110,000 x1H 122 1,320
- 154 01 420 0| 2t 80,000 «1H 128 960
- 104 01 &f 15 0] 2t 60,0003 1 122 720
ONEs=g 5,386
- BH < X 40,0003 «3H 122 1,440
- JIEOHE 20,0003 *3H «1.48+12& 1,066
-ZE 80,000 *3H 122 2,880
oMdstdlEx=4 834
-nSshd 463,300& *3H 0. 15%43| 834

OAzte 224 18,786
ZE 8,0283 *65A1 2t +3H »12& 18,786
H22H 2,676 *90A| 2t+3H x12& 8,671

Ald| 130,000& x3H 128 4,680
Jtdl 88,661,000 *1/12x60%*23] 8,867
abdl
88,661,000 «86%1/12%1/30%x 19 4,025
1=l 250,0003 *x3Z +2& 1,500
g 2,400,000& *3H x130% 9,360
3 E2E 5,500
222 255,400 203,238 52,162
LAJAS XS 218,667
1,339,200& x7H x12& 112,493
&0z 112,492,800 *1/12%320% 29,999

OAR=< 44,6403 «7H 18 5,625

oz2s=+g 50,000 «7H x12& 4,200

OFL2R==Y 44,6403 +1.5x7H+3L 122 16,874

ONs=g 6,116

- X 40,0003 «7H+0.78+123 2,621




AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
- JIEHDHSE 20,0003 *7H x1.48%12& 2,487
-xZ =2 40,0003 *7H *0.3*12& 1,008
OFMZAY| 130, 000& 7Y x12& 10,920
(@F=FSE=l 5] 600,000& *7H *23] 8,400
Ons=2xyl 60,000& x7H x12& 5,040
Ol =t 250,000&*7H *x2& 3,500
Ol 29,7603 x7Hx12& 2,500
O5UAMEIEE 13,000
O2geeis 36,733
oJleas 1,580,280 x 1 «12& 18,964
Oad3 18,963, 000& *1/12%320% 5,057
Odxtx=< 60,780& x1Hx21 1,277
o254 76,0003 *x1H x12& 912
Ose=22Y 60,780 *1.5%x1H x3 x12& 3,283
Oons==<g 960
- B Xt 40,0003 1 x12& 480
- JIEHHS 20,000& x2H x12& 480
OF MU Z A 130,000& *1H x12& 1,560
OY &SIyl 600,000 * 1«23 1,200
OnE 2 x| 60,0003 *x1H x12& 720
o1l = bl 250,000@ *x1H 25 500
Ol 30,0003 *1Hx10& 300
ObBUiMEEE 2,000
204 &2~ A H| 55,560 54,300 1,260
01 S HR-HAY| 7,200 7,200 0
OHF 400,000& x1H x12& 4,800
O HE 100, 000& 2 x12& 2,400
02 =28 xH| 48,360 47,100 1,260
042 400,000& x1H x12& 4,800
=] 250,000& x2H x12& 6,000
062 L A A 155,000& *8H »12& 14,880
o722 140,000& x5 123 8,400
[182-9=2 105,000& x7H 128 8,820
O & H kA 140,000 *1H x12& 1,680
OFAZZ 105,000& *3H x12& 3,780
PIEET 250,074 229,564 20,510
Jl23Hl 250,074 229,564 20,510
201 LBt Y| 215,334 193, 344 21,990
01 AFR2 22l dl 110,630 108,240 2,390
ggst=gH| 48,190
ONESNANLIA=EEIIEESHE 5,000
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AZ: BANYTR 2l
M M XROAMATE S 2
ool A2ATHYE CERED
% - 4 14
AT SN . C (3] ) - M A %Eﬁ HR=2

=2 3AXH 500,000 500,000 0
Xl 250,000
& 250,000

401 Al HI L =2 Tl 500,000 500, 000 0
Xl 250,000
= 250,000

01 Al&H| 486,950 486,950 0
PN 486,950
Xl 243,475
=} 243,475

02 2elbl 9,450 9,450 0
O4+=2as 9,450
Xl 4,725
& 4,725

03 Al&E 201 Y| 3,600 3,600 0
O+=as 3.600
N 1,800
=} 1,800

s2A%0tRI)| 92,558 54,484 38,074
= 46,279
= 46,279

401 AlEHIZL 2 0HY| 92,558 54,484 38,074
= 46,279
& 46,279

01 Al& B 89,086 52,444 36,642
mEDIEl 89,086
= 44 543
& 44 543

02 2teld| 2,638 1,550 1,088
REPIE DI 2,638
= 1,319
& 1,319

03 Al 20| 834 490 344
mEPIEl 834
2 417
o= 417

=S A HS 13,864 13,864 0
= 6,932
= 6,932

101 124 H| 13,864 13,864 0
= 6,932
o= 6,932

04 JI12ZtHI22 13,864 13,864 0
Ox=sS8Y 13,864
= 6,932
= 6,932
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AT BHUETAR SN S2EBYL
M 4PN MANSE 2L
SHol: AZXRNTD EERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET

odIIe2 10,000
OAE EHI KXY 10,000
O RAE2Y 10,000

202 04l 5,000 7,000 A2,000

01 = LH o4 1l 5,000 7,000 A 2,000
OSAHHHLARE R = 5,000

206 = Hl 15,000 15,000 0

01 =8l 15,000 15,000 0
OSHHALAIMEZ Y 5,000
OgEgHAETY 5,000
OASHEXEFY 5,000

207 A O & H] 10,000 32,000 A 22,000

03 Al & 1HI 10,000 12,000 A 2,000
OMNSHIEZEAITNM L 5,000
OBNHEINEEA R AL 5,000

401 AIEHI L 2 0] 15,000 0 15,000

01 A& Hl 15,000 0 15,000
OB MEAI 2L I A 10,000
OMERENEESEHSSES ALY 5,000

405 XtAtE SHI 1,000 1,000 0

02 =M=l 1,000 1,000 0
JAERANIEZEN 1,000

=22 SEANESRITAMEH A 12,841 13,124 A 283

101 @14 Hl 10,841 10,124 ravs

04 JIZHZ2XNHEE S 10,841 10,124 ravs
O4S A MTAR 10,841

206 M= Hl 2,000 3,000 21,000

01 M= 4l 2,000 3,000 A 1,000
JMEI=AE L 2,000

s RAMEEHH 15,841 44,654 A28,813

101 @124l 10,841 12,654 21,813

04 D12t Z22HEE = 10,841 12,654 21,813
OHEZMHEEXR 10,841

207 A O &l 5,000 7,000 A 2,000

03 Al & 1HI 5,000 7,000 A 2,000
OEZMN=2Z7Y 3,000
OHESMEAIS2 2,000

=2stwazdg 412,656 199, 164 213,492
= 30,000




AR HFNYTRR SN S2EBYL
M METRAAMHAEE A 2L
ool zRHRARY (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
Al 74,000
& 308,656
=HEZZ2)HER2Y 73,458 89,043 AN 15,585
101 @121l 28,458 24,043 4,415
04 JI2ZtH22XNHEE 28,458 24,043 4,415
OSOt=H & & X & A 20,327
O=xdgeta 8,131
201 Bt H | 30,000 47,000 A 17,000
01 At 22l Yl 20,000 37,000 A 17,000
OJget~g| 20,000
O=H& nMH & 10,000
OMIII0IELE LT H & 10,000
03 S AIS H I 10,000 10,000 0
O Ao A 10,000
206 = bl 15,000 18,000 A 3,000
01 M= bl 15,000 18,000 A 3,000
O=MEgaczazMasze 10,000
>SRAMEHAME P 5,000
=MEAL2C2H 131,198 110, 121 21,077
101 @121l 16,262 15,185 1,077
04 JI2ZtH 22 XNEE 16,262 15,185 1,077
O=2stdgssad2a 2 16,262
201 L2 Y| 24,936 24,936 0
02 35249t 24,936 24,936 0
O2=222YHA 22,936
(OrSPIETa=] 10,000
O&JI|etEZe =2 6,444
Odste= 1,200
O AZHI| 5,292
O A& &H|I S Xl H] 2,000
OH2F X &2 2,000
401 Al HI L =2 Tl 90,000 70,000 20,000
01 A& HI 90,000 70,000 20,000
ORZA2MAILA 50,000
O2L AR A b 20,000
OSO=H2dIMEANEZSE 2 20,000
ME S =MD 2t 148,000 0 148,000
Xl 74,000
& 74,000
401 Al HI YL 2 0HHI 148,000 0 148,000




A= BFAMYTE= SN sSaeld
My MUNRAMARSE L
Chel: =Estuazd (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Al 74,000
< 74,000
01 A& HI 146,934 0 146,934
+>Z2AR=MEJ =L (NEZHI) 146,934
X 73,467
< 73,467
03 Al 2 0HHI 1,066 0 1,066
O+S2R0=MEJEL(XNSZHl) 1,066
Xl 533
< 533
LI HEHIES ALY 60,000 0 60,000
2 30,000
< 30,000
405 XHoHF S HI 60,000 0 60,000
2 30,000
S 30,000
01 AL EZFH S 60,000 0 60,000
OSSMZIN2 (1) 60,000
= 30,000
< 30,000
HH2I I (=522 L) 938,737 920,107 18,630
el 2 785,277 736,317 48,960
ol 2| 785,277 736,317 48,960
101 124 dl 767,517 718,977 48,540
01 2= 510,476 484,072 26,404
s 353,291
Oz =H 317,696
SRR (95 E) 5,360,300 x1H «12& 64,324
-62 (255 8) 3,381, 100& «2H +12& 81,147
-72(11&88) 2,334,500 x4 H «12& 112,056
- AAH(28E ) 3,441,800& x1H~123 41,302
-9= (62 8) 1,572,200 x 1P «12& 18,867
OFSE=Eol=s 317,696,000& *1/12 26,475
OFSE=El= Pl Fig= 9,120
- 25901 &f 130,000& x3H 122 4,680
- 204 ~254 0] &t 110,000 x1H 128 1,320
- 10 0l & ~15 0] 2t 60,000 *1H x 122 720
- 5@ 0l &~ 10 0l 8+ 50,000& «4H «12& 2,400
O=¢ 96,955
o8¢ 5,022
-HRSRESE 5,022
58l< 3,381, 1003 x2H +4 1%+ 122 3,328




A2 BAMPTER SN ssddelL
My @AY (228 B2IL)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS 0 AF o ﬁlf& HD=2
EEEE
3,441,800 x1H x4 1%*12& 1,694
OJHEBEAELEE 14,613
-EsY 7,200
ol Xt 40,0003 9 x12& 4,320
JIEFIL S 20,000& x12¥ ~12& 2,880
PUEE TS 7,413
St 463,300 42 %43 7,413
CEESEEES 4,320
-EMEI2RE(SX)
40,0003 9 x12& 4,320
OS2 22Y 5,880
-EFYURAYOIsdESY) 3,960
6,72 30,000& *6H 128 2,160
8= 0] ol 20,0003 *1Hx12& 240
JEAEZ2 (DI AL 30,000& *x3H »12& 1,080
JHAFZ(AFRIIAL) 20,0002 x22 * 128 480
-S4YRLH(ATYRAY)
80,000& x2H x12& 1,920
Oxm2REHYS 67,120
SAZE 2R Y 48,047
PARSLE 9,886& *10Al 2 x9H 128 10,677
=2 9,886& *35A| 2t *9H x12& 37,370
-E5U222Y 79,4673 x 10U »2H x 128 19,073
OFHZAH| 130, 000& 9 x12& 14,040
OY&E 3Oyl 317,696,000 *1/12x60%*23] 31,770
90k &t
317,696,000 *1/12%86%*1/30%x 19 14,420
02 JIEt& 2% 116,681 115,042 1,639
O ESE 116,681
o=22(30s=) 2,917,200 2 x12& 70,013
Od a2 2,917,200 2 x130% 7,585
(OFS ==, 70,013,000& *x1/12 5,835
O&dIZx=4Itat3 2,880
- 253 0| & 130,000& *1H x12& 1,560
- 20 0| AH~25E 0] 2t 110,000& 1 x12& 1,320
OIEsx=Y 1,440
- B < Xt 40,000& x2H x 128 960
- JIEHDHE 20,000 »2H x 128 480
OAZtA2ZRY 4,746
-yHME 9,886& *10Al 2+ x2H 128 2,373
-XZE 9,886& *10Al 2tx2H x12& 2,373
OF M ZAY| 130, 000& 2 128 3,120




2 MY AR
o WEHAAH (B2 L)
9l olE 2y

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OFEFOtHI 70,013,000% *1/12%60%*23! 7,002
OEItE &t HI

70,013,000% *1/12%86%1/30% 192 3,178
OsgZ2fs+¥ 79,4673 +3L«2H 128 5,722
OJl=desE 20,000 «2H « 122 480
OEx=XNZ2R=E 40,0003 2 122 960
OAZEXHI 105,000 »2H «12& 2,520
Ol sl 50,0003 «2H 122 1,200

03 RIHAZ 22+ 140,360 119,863 20,497

et ol S o2 35,283

OJdles 1,339,200& x1H x 123 16,071

Oz 16,070,400& = 1/12%320% 4,286

OAR=< 44 6403 *1H »202 893
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O&E=g 960

- B Xt 40,0002 1A« 128 480

- JIEHOHE 20,000 «2H « 122 480
SNE-ELES

47,9303 *1.5/8+x15A1 2+ x 1 x12& 1,618
OsgZ2fs+% 47,9303 « 1 +1.5+52 3,739
OunsE x| 60,000 «1H « 122 720
OFE S tHl 600, 0003 1 +23] 1,200
O&FHZ Al 130,000 x1H 128 1,560
Oxtd 251 =H| 200,000 »1H 200
OXE 2SI 20,0003 «5 =128 1,200
OS5 AtE 2 & 2,500

OANES(EA)2e2 70,102
OJdles 1,339,200& »2H «12& 32,141
Oa0= 32,140,800% *1/12%320% 8,571
Og X< 44 6403 «2H 202 1,786
OPIE=E=s 1,440
- B Xt 40,0002 «1H « 128 480
- JIEHOEHS 20,0003 «4H «122 960
OF=E=F = 58 +7,000& * 128 «1Y 420
o254
(104 +7,000& +(12H-10)*2,000& )* 12 *1 888
%

SNE-ELES

45,1702 *1.5/8%15A| 2t+2H » 128 3,049
OsgZ2fs+% 45,1703 1. 5+2H «52L 7,047
OunsE x| 60,000 «2H 122 1,440
OFEFItHI 600, 0003 x2H +23] 2,400
OF M Z Al 130,000 x2H «12& 3,120
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O5tHAtEI 28 5,000
Oz 34,975
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OiIEsx=Y 960
- B < Xt 40,0003 *x1H x12& 480
- JIEHDHE 20,000 »2H x12& 480
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02 =282 x4 16,560 16, 140 420
O 250,000& » 1 x12& 3,000
062, d AL 155,000& *3H x12& 5,580
072 140,000& x4 128 6,720
o9z 105,000& x1H ~12& 1,260
Jl=23 bl 153,460 183,790 A 30,330
JlE&l 153,460 183,790 A 30,330
201 2Bt | 86,600 95,980 ~9,380
01 AP 2t2ldl 46,400 52,780 A 6,380
Oget=sH| 12,200
OnNxsc=2sdz 1,200
O HAFR2ULAN EH| 2,000
OJIBANRESLALAZEEFY 2,000
OL2tEHIZ2x=4+2S 6,000
O ATEHRY 1,000
Oeg=¢ 28,740
O &b 6,840
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